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Measurement and .Mefrology

Note: Answer any FIVE full questions, choAs@ ONE full question fTart*ach module.
.t'"':'::;t,.. 
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.# ::jI a. What is metrology? List the objectiVetii,0f metrology. (10 Marks)
b. Four end bars of basic length,lp"9T-"m are to be calibrated using a standard bar of 400mm

whose actual length is 399.9992fim It was also found that lengths of bars B, C and D is

comparison with A are'+0.000 +0.0004mm and -0.0001mm respectively and length of
each one them put togeth in comparison with rthfu,standard bar is +0.0003mm longer.
Determine the actual t-$,tlil of each end bars. ,,,,1 (10 Marks)

OR
Write a brief no'tp,,,,,,,,,,,,,,,,on'international prototype meter with neat sketch. (10 Marks)

Two length,b'pq,p of approximate 50Omne,are to be calibrated with the standard calibrated bar
which is,4opgilly 0.0008mm less than a.m€ter it is also found that bar B is 0.0002mm longer
than bpr',rd,,'The length of the two,bar when put together is 0.0003mm longer than the

calib:atedBtandardbar.DeterminE:thU'actualdimensional"ff,f,eachbar. (l0Marks)

, Module-2 ,":'::'' ':::::::':

Explain the concept of compOund tolerance with example in metrology. (10 Marks)
Determine the actual,diliiEnsional to be provided for a shaft and hole of 90mm size for
Hsee type clearance fitEilb 90mm falls in diameter step of 80J00mmvalue of tolerance for
IT8 and IT9 are 25i and 40i. Value of F.D for'e' type shaft.ill*llDoar. Design the G0 and
No - G0 gauge as per present British system.'"""" ,,*ii'l-:riit1',,,, "i11; OR

4 a. Explain the following with neat sketch
i) Plug gauge ii) Ring gauge

b. Explain Taylor's principle of limit gauging with neat sketch.

. . = rvrooiiillS
aq,."'Eiplain with neat tch the constructioii'hrid principle of working of Johanson Mikrokator.

, (10 Marks)
b. With neat sketchjbdbhin Solex c-gffirator. (10 Marks)

,i:ri,-

,01*,:r, i, titw'i 
OR

a. Explain the'working of,,LVDT with neat sketch, Also list out the advantages and
disadvantages.

b. Select the sizes angle gauges required to build the following :

i) 37o 16' 42"
ii) 1o2o g, 42,,,",1,1,,j.., 
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Module-4 ffi
Define eror. Give the detailed classification of errors qiffiflmple. , (10 Marks)

Explain the following with neat sketch * ij&%
1tu.a, **si) Bourdon tube 

.," *. **ii) Diaphragm d:**l'g* (10 Marks)
1E*" .*

%
i: ' '"OR. _" *'rqf ,

Define transfer efficiency of a transdffi Siphin primary and ffiftdary transducer with
10 Marks)example. dh..

Discuss the block diagram of ge1gm$€d measureni,ent systeq"ufrth example for each stage

elements. **" -i$-=,,+* ,ffi (10 Marks)
";rk r t,*u.,%ffi W"

Exprain *itn neai ,retffi;ffiffi.rffi,*iple of hydrautic dynamometer.
_ _: 

*T *.\nJ" (lo Marks)

Define thermocoupfeiffi-'?nd explain the laws gbffihirine the functions of thermocouple.
.{'* (10 Marks)

::
: -iRL'

0. \! ,., ."i&'" ir t,.":.r--,
0R",

Explain tfm\O?ting of Mcleod gurgrffiro derive an expression to determine unknown
(10 Marks)
(10 Marks)
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